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1. What is the difference between inductive and deductive reasoning?
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2. What is the difference between a postulate and a theorem?
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3. Identify the angles below as: complementary, supplementary, vertical, linear pair,
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4. Solve for x. 5. Solve for x, DO, and OG.
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Given the figure and DG = 60 ft.
HO- X6 oWl g

4x- 3 2x+ 21
f 5 ) HX=2 AT =20
m£JIL = 20x - 10 “ X = _ (X1 =0
mZLIK = 8x - 20 bo=_ 45 X = ur-
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m£JIK = 140 - 6x oc= 25 7 X= -

7. Solve forx and y. -
X = A % y = 2”’67’
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8. In the diagram shown, £ 1 has a measure of 60°. 9. Solve for x.

x=_ 23S
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List the vertical Pairs: A‘E ?’ L% /‘» ZZ” 5? AL}'
List the linear Pairs: £ 4 £ 2, £5 € /Y

mz.1=60°ﬁ -

ms2 = { H’)

ms3 = (QQw

mz4 = 52/(‘:}0

10. Solve forx. Findthem £2 and m /3.
X = 58

Pt
mL2 = 75
ms3= /5
AX —(\ = |0S

K = U((?

(=B

11. Look carefully at the pattern. Which of the 4 shapes below would complete the pattern?
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Write a proof (with statements and reasons) for solving each of the equations below.

Use a 2-column proof—lt is easier to
proof.

12. Given: 4x=12x+32

organize from scratch. You may not need all the lmes provided for the

Prove: x=-4

Statements Reasons

X = (AL @l 7Za

— KX =25 SUDTY Drips
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13. Given: -}Ix+10 ~9

Prove; x=-32

Statements Reasons
[LX+10=72 Cven
X = —% “ﬁﬁﬁ# FOP<
A= — 3L mult . pai.
14. Given: -3(x+2)=16-x Prove: x=-11
Statements Reasons
“?%¥%13 g —X O\WAL
) gﬂﬂﬂ”ﬂ I D
—2X - = cldal,_7rop.,
J%w%% de?%7
X = ALV PP







